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BECE-107 : INDUSTRIAL DEVELOPMENT IN 
INDIA 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instructions. 

SECTION - A 
Answer any two questions from this section in 
about 500 words each : 	 2x20=40 

1. Give a brief account of the role of public sector 
enterprises in industrial development of India. 
What are the major problems faced by them ? 

2. What is meant by fragmentation of production 
process in an industry ? What are the factors that 
lead to fragmentation of production ? 

3. What is the role of MNCs in economic 
development in India ? Build arguments for and 
against MNCs in India. 

4. Bring out the factors that led to liberalization of 
industries during 1990s. State the salient features 
of the liberalisation measures. 
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SECTION - B 
Answer any four questions from this section in 
about 250 words each : 	 4x12=48 

5. Briefly describe the reform measures in the 
financial system in India after 1991. 

6. Briefly explain the factors that lead to wage 
differentials in the industrial sector. 

7. Give a brief account of India's position on 
international labour standards. 

8. Distinguish between economies of scale and 
economies of scope. Give a few examples of their 
applications in industrial economics. 

9. Explain how geography is important in industrial 
development. 

10. Give a brief account of the role played by Medium, 
Small and Micro Enterprises (MSME) in India. 

SECTION - C 
11. Write short notes on any two of the following : 

(a) Regional disparities in India 	 2x6=12 
(b) Administered pricing in India 

(c) Mergers and acquisitions 
(d) Capacity utilisation in India 
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